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Two reasons (in terms of

sperm) for male infertility

Artificial Insemination is

the stages

Give examples of the three physical methods of
contraception
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Unit 2 KA3:
Controlling
Fertility

of IVF

Describe —!
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Explain the Biology basis
behind the following

Type of fertility in
females is known as:

chemical methods of

contraception
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K Contraceptive Pill

Progesterone only ‘Mini Pill’
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Type of fertility in
males is known as:

Intracytoplasmic Sperm
Injection (ICSI) is:
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Preimplantation Genetic
Diagnosis (PGD) is:
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